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1. Which one of the following tribal groups

is dominantly found in the
Mountains’?

{a) Lambadas
{b) Gonds
(c) Jarawas

(d) Todas

2. Who among the following geographers is

related to ‘primate city’ concept?
{a) August Losch

(b} Mark Jefferson

(c) Griffith Taylor

(d) W. Christaller

3. Which one of the following islands

is the largest?

(a) Borneo

5. Which one of the following proteins gives

lustrous shiny appearance to silk fibre?
(a) Fibrin

(b) Sericin

(c) Collagen

(d) Nectin

6. Blue Baby Syndrome is caused by the

contamination of

fa) mnitrite (NO3 )

(b) sulphite (SO%™)

(e) nitrate (NO3)

(d) sulphate (SOZ")

Match List-I with List-II and select the

correct answer using the code given
below the Lists :

(b) Madagascar
(e} New Guinea

(d) Sumatra

4. Arrange the following Tiger Reserves of

India from North to South :

1. Dudhwa
2. Panna
3. Pench

4, Indravati

Select the correct answer using the code
given below.

(@ 4,3, 2,1
B 2,19
e 1,2, 3,
{d 1, 3, 2,

B H W
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List-I List-IT
(Cell Organelle) {Function)
A. Mitochondria Photosynthesis

B. Chloroplast 2. Protein synthesis
C. Ribosomes 3. Intracellular
digestion
D. Lysosomes 4. ATP formation
Code :
fa) A B C D
3 1 2 4
(b} A B c D
3 2 1 4
(g A B C D
<} 1 2 3
(d) A B C D
4 2 1 3

[ P.T.O.
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8. Human insulin molecule is composed of

one ¢-chain having 21 amino acids and
one f-chain having 30 amino acids. How
many functional insulin genes occur in
adult humans?

{(a) One

(b) Two

fc} Three

(d) Four

9. Pearl is a hard object produced within.

the sofi tissues of a mollusk, Which one
of the following is the main constituent
of pearl?

(a) Calcium carbonate
(b} Calcium oxide
(c) Calcium nitrate

(d) Calcium sulphate

10. A biological community in its environ-

ment such as a pond, an ocean, a forest,
even an aquarium is known as

fa) biome

fb) community

{c) abiotic environment

(d} ecosystem

STS-K-TPT/46A

An electron and a proton starting from
rest are accelerated through a potential
difference of 1000 V. Which one of the
following statements in this regard is
correct?

(ad} The kinetic energy of both the
particles will be different.

fb) The speed of the electron will be
higher than that of the proton.

fc) The speed of the proton will be
higher than that of the electron.

{d) The speed of the electron and the
proton will be equal.

12. Two wires are made having same length [

and area of cross-section A. Wire 1 is
made of copper and wire 2 is made of
aluminium. It is given that the electrical
conductivity of copper is more than that
of aluminium. In this context, which
one of the following statements is
correct?

(e} The resistance of wire 1 will be
higher than that of wire 2.

(b} The resistance of wire 2 will be
higher than that of wire 1.

{c) The resistance of both the wires will
be the same.

(d) 1f same current is flown through
both the wires, the power
dissipated in both the wires will be
the same,

13. A ray of light is incident on a plane mirror

at an angle of 40° with respect to
surface normal. When it gets reflected
from the mirror, it undergoes a
deviation of

(@) 40°
(b) 100°
c) 90°
(d) 80°

[ P.T.O.
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14. Infrared, visible and ultraviolet radiations/

light have different properties. Which
one of the following statements related
to these radiations/light is not correct?

(a) The wavelength of infrared is more
than that of ultraviolet radiation.

{b) The wavelength of ultraviclet is
smaller than that of visible light.

(c) The photon energy of visible light is
more than that of infrared light.

(d) The photon energy of ultraviolet is
lesser than that of visible light.

15. After wusing for some time, big

transformers get heated up. This is due
to the fact that

1. current produces heat in the
transformers

2. hysteresis loss occurs in the
transformers

3. liquid used for cooling gets heated

Select the correct answer using the code
given below.

{(a} 1 only

(b} 2 and 3 only

¢/ 1 and 2 only

(@ 1,2 and 3
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16. A person is standing on a frictionless

horizontal ground. How can he move by
a certain distance on this ground?

fa) By sneezing
(b) By jumping
(c) By running
(d) By rolling

17. In the reaction between hydrogen

sulphate ion and water
HSOj; +H,0 — Hz0" + S02%°
the water acts as
fa) an acid
(b) a base
(c) a salt

(d) an inert medium

18. How many hydrogen atoms are contained

in 1:50 g of glucose (CgH;,04)?
(@ 3:01x10%% () 1-20x 10?3
Irc) 2:40 % 11:}23 fd} 602 x 1022

19. The paste of a white material in water

is used to maintain a fractured bone
fixed in place. The white material used
is called

(a) bleaching powder
(b) plaster of Paris
(c) powder of zinc oxide

(d) lime powder

20. Which one of the following types of

glasses is used for making optical
instruments?

fa) Pyrex glass

(b) Soft glass
fc) Hard glass
{d) Flint glass

[ P.T.O.
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21. Most ozone gas (about 90%) is located in

the atmospheric layer of
{a) ionosphere

{b) troposphere

(c) stratosphere

(d] mesosphere

22, What are the main constituents of

biogas?

(a} Methane and sulphur dioxide

(b) Methane and carbon dioxide

(c) Methane, hydrogen and nitric oxide

(d) Methane and nitric oxide

23. In which two Indian States of the

four mentioned below, it is necessary
to hold certain minimum educational
qualifications to be eligible to contest
Panchayat Elections?

1. Punjab
2. Haryana
3. Karnataka

4. Rajasthan

Select the correct answer using the code
given below.

fa) 1 and 2
(b) 2 and 4
() 2 and 3

(d} 1 and 4

STS-K-TPT/46A

24. Which of the following statements about

‘delegation’ is/are correct?

1. It is the abdication of
responsibility.

2. It means conferring of specified
authority by a lower autherity to a
higher one.

3. It is subject to supervision and
review,

4. It is a method of dividing authority
in the organization.

Select the correct answer using the code
given below.

fal 3 only
(b) 2 and 4 only
fe) 3 and 4

(d) 1,2 and 4

25. Which of the following features were

borrowed by the Constitution of India
from the British Constitution?

1. Rule of Law
2. Law-making Procedure
3. Independence of Judiciary

4. Parliamentary System

Select the correct answer using the code
given below.

(e} 1 and 2 only
(b) 2, 3 and 4
fc) 1 and 4 only

(d) 1, 2 and 4

[ P.T.O.
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26. Which one of the following Schedules of
the Constitution of India has fixed the

number of Members of the Rajya Sabha
to be elected from each State?

(a) Fifth Schedule
(b) Third Schedule
() Sixth Schedule

(d} Fourth Schedule

27. Which one of the following statements

about wvarious horticulture ecrops of
India for the year 2016-17 is net
correct?

(a) The area under horticulture crops
has increased over previous year.

(b) Fruit production during the current
year is higher than the previous
year,

{c) Rate of increase in onion
production is more than potato
production in the current year in
comparison to the previous year.

(d) The major tomato-growing States
are Madhya Pradesh, Andhra
Pradesh, Karnataka, Odisha and
Gujarat.

28. The phenomenon of ‘demographic

dividend’ of a country relates to
(@) a sharp decline in total population

(b) an increase in working age
population

fc) a decline in infant mortality rate

(d) an increase in sex ratio

STS-K-TPT/46A

29. Arrange the following events in

sequential order as they happened
in India :

1. Mahalanobis Model
2.  Plan Holiday

3. Rolling Plan

Select the correct answer using the code
given below.

(@ 1, 2,3

() 3,21

fe) 2,3

(d 1, 3,2

30. The monetary policy in India uses which

of the following tools?

1. Bank rate

2. Open market operations
3. Public debt

4. Public revenue

Select the correct answer using the code
given below,

fa) 1 and 2 only
(b) 2 and 3 only
() 1 and 4 only

(d) 1, 2, 3 and 4

[ P.T.O.
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31. Devaluation of currency will be more
beneficial if prices of

(a) domestic goods remain constant

(b) exports
importers

become cheaper to

(c) imports remain constant

{d)

exports rise proportionately

Directions :

The following five (5) items consist of two
statements, Statement [ and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code :

(a) Both the statements are
individually true and Statement II

is the correct explanation of
Statement I
() Both the statements are

individually true but Statement II
is not the correct explanation of
Statement I

(¢} Statement I is true but Statement II
is false

Statement | is false but Statement II
is true

(d)

32. Statement I :

Skin cancer is generally caused by the
ultraviolet radiation.

Statement II :

Stratosphere allows ultraviolet radiation
to enter the earth from the sun.

STS-K-TPT/46A

13

33. Statement I :

The interior part of Maharashtra
does not receive adequate rain in the
SUminer seasoln.

Statement II :

The interior part of Maharashtra lies in
the rain shadow of the Western Ghats.

34. Statement [ :

Global warming signifies the rise in
global surface temperature.

Statement II :

The increase of concentration of
greenhouse gases in the atmosphere
causes the rise in global surface
temperature.

35. Statement I :

The Communists left the All India
Trade Union Congress in 1931,

Statement II :

By 1928, the Communists were no
longer working with the mainstream
national movement.

36. Statement I :

The early Aryans, who were essentially
pastoral, did not develop any political
structure which could measure up to
a State in either ancient or modern
SEnse.

Statement II ;

Kingship was the same as tribal
chiefship; the term Ragjan being used
for tribal chief who was primarily a
military leader and who ruled over his
people and not over any specified area.

[ P.T.O.
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(b) a1, 2 3R 3

(c) Faa 1, 2 3 4

(d) FEe 3 3 4

40. wig 6 o 5 guy § 3 R == W

Frafafas # & F9-w ddem gd gafem &7
(a) : Aqfer e
(b) : 2f =1 Ty
: TIFE T

1789
1791
c) 1792

(d) 1804 : T€ & 941 HEgH

41. T G FHigae FF HI o@F 70 8 1 87

(a) Tl
(b) ®=H
(c) %

(d) =4

42, TVdE gEFR, 2016 W | fRA yem fn

14

™ 37

(a) @ oMY
(b) TR <l
(c) wic T

(d) TEEE TE
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37. Which one of the following peasant

struggles was an outcome of British
opium policy?

(@) Phulaguri Dhawa (1861)

(b) Birsaite Ulgulan (1899-1900)

(c) Pabna Revolt (1873)

(d} Maratha Peasant Uprising (1875)

38. Which one of the following statements

about the Sayyid brothers during the
period of Later Mughals is not true?

(a) They brought Jahandar Shah to
power.

(b) They wielded administrative power,

(c) They followed a tolerant religious
policy,

({d) They reached an agreement with
King Shahu.

39. Which of the following statements with

regard to the heterodox sect between
sixth and fourth century BC are
correct?

1. The Jain ideas were already being
circulated in the seventh century
BC by Parshva.

2. Although Buddhism, and to a
lesser extent Jainism, took account
of the changes in material life and
reacted against orthodoxy, neither
of these sought to abolish the caste
systerm.

3. The first female disciple of
Mahavira is said to have been a
captured slave woman.

4. Buddha held that nuns could
attain spiritual liberation just like a
monk and granted them an equal
status in the mendicant order.

STS-K-TPT/46A
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Select the correct answer using the code
given below.

fa) 1,2, 3 and 4
(b) 1, 2 and 3 only
(c/ 1, 2 and 4 only

{d) 3 and 4 only

40. Which one of the following combinations

of year and event concerning the French
Revolution is correctly matched?

(a) 1789 : Napoleonic Code
(b) 17921 : Tennis Court Qath
(c) 1792 : National Convention

(d}] 1804 : New Constitution of France

41. Who among the following is the author of

the book, The Social Contract?
(a}) Voltaire

(b) Hobbes

{c) Locke

(d)] Rousseau

42. Who among the following is the recipient

of the Jnanpith Award, 20167
(a) Shankha Ghosh

(b) Raghuveer Chaudhari

(¢} Pratibha Ray

(d) Rehman Rahi

[ P.T.O.
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43. UNO ZW ggersdl fam @53 (MDGs), 2015 46. T4 2016 & fou (IR 1 99 e 59/

F WHE W AR MU unefig TEm as Foreg wem T en?
(SDGs) 1 3299, g = o 17 @59 W

BT 27 (a) =& o doG

(@ 2020 (b) ke T THo Blwed
() 2030 fc) Sto HIgHel HAered
() 2040 (d) =7 q T

(d) 2050

47. ¥ wffen A #fr A Fr=fafas 7 @

44, THo THo Hegwed WA YEER, 2016 H) T et 1 e i o7

TTHe e 98, fre faan < wfaes 87 o R T A
e (b) TR tew T

(b) w5 T i R
o (@ T e

(d) HgaH!, T YR YEEiA el

48. NASA 30 Ry fen mn SRE fem, st

45. @1 WA Heh TR, 2016 T A R WM fqamr 2017 # wAW gen, gW Fefafas §

fopm e 27 # fre o At om-dfm i 17
(@) A TRE (@) W

(b) FEIS FHR (b) &

(c) TTEE IFTEW (c) WM

(d) o Ty (d) Feeafa
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43, The Sustainable Development Goals
(8DGs), which were adopted by the UNO
in place of the Millennium Development
Goals (MDGs), 2015, aim to achieve
the 17 poals by the year

(@) 2020
(b) 2030
(c) 2040

(d) 2050

44, Teejan Bai, a recipient of the M. S.
Subbulakshmi Centenary Award, 2016,
is an exponent in

(@) Kannada classical vocal
(b) Kajari dance
(e} Bihu dance

(d)

Pandavani, a traditional performing
art

45. Who among the following is the recipient
of the Dadasaheb Phalke Award, 20167

fa] MNana Patekar
{b) Manoj Kumar
(e} Javed Akhtar

K. Viswanath

(d)

STS-K-TFT/46A
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46. The MNobel Prize in Physics for the

yvear 2016 was given to

fa} David J. Thouless

(b) F. Duncan M. Haldane

(c) J. Michael Kosterlitz

(d) All of them
47. Which one of the following political

parties was launched by Irom Sharmila
in Manipur?

(a) People’s Resurgence and Justice
Alliance
(b) Manipur Resistance Alliance

{c} Tribal Resistance Party

() Revolutionary People’s Party

48, Which one of the following planets
was explored by Cassini Mission
launched by NASA, which ended in
September 20177

fa) Sun
(b) Neptune
(c) Saturn

(d} Jupiter

[P.T.O.
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49, -1 H gH-II F iy gafaa Hifm ik 51. g1 =1 -1 % wy gafea FAfm e

HfeEl R Ry 1 g w1 ogEn woad 3w =i % R R g w1 o =l 3w
ﬂﬁ‘l : ﬁﬁq :
-1 -1 -1 FEf-11
[ SRR (V) ] () (fET) (3erz)
A. E—‘m-@g 1. UKME:FH A, TISCO 1. @+
B. 3w 2. st B. BALCO 2. @ SR 9|
& i p= C. BPCL 3. TaaitEE
& diais 3. USA 71 T D. BEL 4. Ugffem
D. TEIfE ' 4. el ay1 Macie R
%2 @ A B C D
2 1 4 3
fa) A B C D (b) A B & D
2 4 1 3 2 4 1 3
(b) A B C D (c) A B c D
2 1 4 3 3 4 1 2
(e) A B cC D d) A B cC D
S-TuEE L E A 3 1 4 2
@) g ? 4C g 52. ¥H-1 F gHA-1I F oy gafmm fifsm s
50. g1 ® wH-1 % Wy gl i ok ﬁﬁqﬂ‘%ﬁ%ﬁqm?ﬂmmm@m
qfwEt + = T M g Hw o W gl I :
g YHEL 11:;“
s i {wﬁlﬂ) ()
(=) (em) A. NH-2 1. Rfl-saq-smuemme-—gm=i
A. wifa e 1. femres wem B. NH-4 2. 3m-go-smes—awd
B. T e 2. IAUEUE C. NH-7 3. Rglsmu-samer—=esm
c. fagera 3. wF ¥ FwwR D. NH-8 4. GRVH-SEAR~AT—eeTTE—
D. =g & 4. Tafem B G e T e
ko e :
fa) A B G D fal A B C D
& B i 3 4 4 8§ 13
() A B C D m & B & D
& ' 1 @2 3 1 2 4 3
) A°. B C D ) A B C D
g 1 @ &9 L R @ 3
[ A B C D (@ A° B C D
3 '@ I 9 5 £ 4 -9
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49. Match List-I with List-Il and select the
correct answer using the code given

below the Lists :

List-I
(Strait)

A. Bass Strait
B. Davis Strait

C. Dover Strait

D. Florida Strait

Code :
(a)

(b)

(c)

(d)

WP W 3 N

50. Match List-I with List-II and select the
correct answer using the code given

W AW —~W +O

AR =0 R0 =0

below the Lists :

List-{

(Pass)
Zoji La
Shipki La
Lipulekh
Nathu La

Code :

(a)

oCew>

(b)

(c)

(ci)

W W £ b

STS-K-TPT/46A

MW =0 =0 0O

it -l e

List-IT
{Place)
Himachal Pradesh

Uttarakhand

Jammu and Kashmir
Sikkim
D
1 3
C D
2 3
C D
2 4
C D
1 4

List-II

(Countries)
UK and France
Australia and
Tasmania
USA and Cuba
Canada and
Greenland

Mg KD WD WD

19

51. Match List-I with List=I1 and select the
correct answer using the code given
below the Lists :

(c)

(d)

List-T

(Concerny
TISCO
BALCO

W WE KF N

L vt v B S v v Bl 0

=020 +0

List-IT
(Product)
Chemicals
Iron & Steel
Electronics
Aluminium

B

Mg ND WY WY

52. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I
{National Highway)
A. NH-2
B. NH-4
C. NH-7
D. NH-8

Code :

fa) A

3

(b) A

1
fc) A
1
(d) A
3

A o S S T o R S s

20RO &0 RO

List-II

(Route)
Delhi-Jaipur-
Ahmedabad-Mumbai
Thane-Pune-
Bengaluru-Chennai
Delhi-Agra—
Allahabad-Kolkata
Varanasi—Jabalpur—
Nagpur-Hyderabad-
Bengaluru-Madurai-
Kanyakumari

g WD WD =g

[ P.T.O.
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53. U HeA hiee FI e gea e s 87 56. SINEH (Xeriscaping) fwud/fmd defim
HFeqT g7
fa) 100 kg FreH
(a) & w9 Y Gefta el
(b) 100 kg FTe SEATFIES
(b) W1 YA U | HaEfoe YEaei-iHm
fc) 1000 kg FEA
fc) I U8 = s
(d) 1000 kg FE SEITFRS

(@) I /R

S4. R () Ry T s e 47 57. fr amm W FA F o q-ume we

WPILE: iy Imarft o fiossdt 81 @8 wn fem

Foft # amen &7
(b) TH 33 3R uw g (a) EHETE! VA
(c) F7 (b) STEECATRE TN
(d) <134 (c) & WA

(d) EH-FEAHE THA

55. Fr=fofag & @ #w-w1/a WeatfRe wwd ame
R 8§ 95F S % Wy ¥ Yaw w2/

JEach & a7

(@) EfRmm-90 (@) Se-Freh v
(b) STEIEH-131 (b) T Ee-greehE Ta]
(c) ¥iSEH-137 (c) e~ werd

(@) I T (d) Tm-fereg, e

STS-K-TPT/46A
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53. One carbon credit is

equivalent to

fa) 100 kg of carbon

accepted as

(b) 100 kg of carbon dioxide

e} 1000 kg of carbon

{d) 1000 kg of carbon dioxide

54. An emulsion consists of

(a) one liquid and one solid

(b) one liquid and one gas

(c) two liguids

(d) two solids

55. Which of the

following radioactive

substances enters/enter the human

body through  food
causes/cause many
disorders?

(a) Strontium-90
(b) lodine-131
(e} Cesium-137

(d) All of the above

STS-K-TPT/46A

chain and
physiological

21

56. Xeriscaping’ is a concept related to

(a) landscaping related to save water

(b)

(c)

(d)

landscaping related to save soil

erosion

weathering of rock surface

All of the above

57. Joule-Thomson process is extremely
useful and economical for attaining low

temperature.

The process

categorized as

(@)

(b)

(c)

(d)

58.

Ultrasonic

isobaric process

isoenthalpic process

adiabatic process

isochoric process

waves are produced

making use of

(a)

(b).

(c)

(d)

ferromagnetic material

ferrimagnetic material

piezoelectric material

pyroelectric material

can be

[ P.T.O.
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59, T% =fth ww e =) forl &fos sl wauaa

T8 W Hehel B 98 2@ R B o fiw m
T FE FA e—(1) ToEE T AR (i) 9B
# fera wfafen ot % 9 fam &
HFER, 2 T 5 = B Frefafaa 1 9
FA-41, fig 6 nfa % oo wa = g 27

fa) T, =@ % @1y = |

(b) Tie, e F @y =@

(c) Tis fér =@ & 3o, g & sem
T

(d) T fém 3| Fm)

60. T=ferfaa wual w faw Fifs .

1. iy wwi 3 it wEn H oSS
TrFen & fou Jaen sfifEn wem &=
A gl 8, wig kb fowed 4 w5
e AT e 8 |

2, ifiefE fge 1§ srfafsean fafa =i 8,
welh AR wHT 7 sthilear wFERE
B R

3. T flger § vt warem e
‘wifess &, wafE TR 99 % fawa |
‘ifeeRal 1 iy W9 6T 2

4. TfEfg el @ fadesl =1 @ 746
Bl &, sEfe TfiEhE a6 § g =
Bl B

% AfERE fis 9 o TRy W9 %
dfparers frgt % foww & sudw # @
F-41/8 FU wE B/E7

(@ 133

(b) 2 33

c) =HEA 4

(d 13X 4

STS-K-TPT/46A
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61. WREAH HIsH A 9 TH eI 7S H 7

" w9 W fna ®, @ W@ BR anh gy
g frefafaa 9 9 s sfanfoss amas
% T Bl &7

(a) FfEN 1 WeH SRATHFEEE T
(b) WU I A SAAETEE §
(e) Teafe =1 Rdq

(d) Ifen F1 st

62. HIF W& 1 fAeaviEm, Ieeitd que

A g R s # ) faeER wougw 7@ dn
2

() ol 5@ & aafis
(b) WGl g & FH
fc) wEwl TE % S

(d) AHEA 2| % U=

63. Frfafiaa # 4 fFu agos & @ e T

BI 87

(@) TEATEHSH
(b) =
(c) Eegeil

(d) T

64. TN HEl % fau srEER W e v gfedd

(A=) B 98 wifes aTEIER #1 @ g
e &, ot = A @

(a) <

(b) U

(c) UFEHIETE

(d) ey s
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59. A person throws an object on a herizontal

frictionless plane surface. It is noticed
that there are two forces acting on
this object—(i) gravitational pull and
i) normal reaction of the surface.

61. The foul smell of urine of a healthy man

having healthy food, when spilled on
floor, is mainly due to the bacterial
decomposition of

According to the third law of motion, the (@) urea into sulphur dioxide

net resultant force is zero. Which one of
the following can be said for the motion
of the object? (¢) lipids into methane

(@) The object will move with
acceleration.

b} The object will move with
deceleration.

(b) sugar into carbon dioxide

(d} urea into ammeonia

62. Desalination of seawater is done by using
reverse osmosis. The pressure applied

(e} The object will move with constant to the solution is

speed, but varying direction,

(d) The object will move with constant (a) larger than osmotic pressure
velocity. (b) smaller than osmotic pressure
60. Consider the following statements : (c) equal to osmotic pressure
1. The chain reaction process is used
in nuclear bombs to release a vast (d) equal to atmospheric pressure

amount of energy, but in nuclear

reactors, there is no chain reaction.
2. In a nuclear reactor, the reaction is

controlled, while in nuclear bombs,

63. Which one of the following polymers does
not contain glucose units?

the reaction is uncontrolled. (a) Glycogen
3. In a nuclear reactor, all operating (b) Starch

reactors are ‘critical’, while there is

no guestion of ‘criticality’ in case of (c) Cellulose

a nuclear bomb.

4, Nuclear reactors do not use
moderators, while nuclear bombs
use them.

(d} Rubber

64. Tincture of iodine is an antiseptic for
fresh wounds. It is a dilute selution of

Which of the above statements about R )
elemental iodine, which does not

operational principles of a nuclear

reactor and a nuclear bomb is/are M
correct? (a) water
fa) 1 and 3 :
(b) acetone
(b) 2 and 3
(c) 4 only (c) alcohol
(dl 1 and 4 (d) potassium iodide
STS-K-TPT/46A 23 | PAT0.
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65. WA F dHfaym 7 mlza q@ siusRr fefEm

form = wet €, e

(a) A AT ST FR
(b) HEE TN UTHE HAfEafEa g
fe) ¥Td * Hiqw™ H GIEE BRI

(d) T HETEd = AT ol g

66. 734 3R 743 wfagm gvie sfufm %

1§ frefafed 7 9 sR-/8 S99 a8 §/27

1. a8, vt sl & fon 9 et @
sl & fF 4 s f dR-wim et
(==en) =t T |

2. whafafy ufa = ¥ fom vy Faife 2R
il

3. wft smal # 'l W FE HiE
wh-foerd didl =1 aftenstt F fou sifamd
&Y B =180 |

= e e g2 1w w39 g
(a) FHaa 1 3R 2
(b) Faa 2 3 3
€ 1,2 373

(d) Fad 3
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67. Fefafas fadg= 4 & /i ofm =0 %

fore dug = 1 weEl % = fade F gemE
¥g wHe I UF WY deF Fi wgEar o
?7

1. uq Jdgs
2. wigafs guye Hdas
3. HYRv Eugs

9 faw My w2 1 W = I gAY
(a) FaE 1

(b) FHaw 2 3R 3

(c) Fa= 3

(d 1,233

68. fr=fefiae # & Fm-w1/3 Fu= ad 2/87

1., U9 # fift % Fevs o=, @ #
gmifes @R afds dieaa # wgEr 2
% fom 21

2, 9Rd & GfRgm % 9m 1 8 wheifte
el AYFER AR W Auii=a e %
e B

3. wHFgE, T o 5w o diaum $ o
Feyanati # 9 & 2

419 few o e W v = ad W g
(@) @ 1

(b) Had 2

fc) Tae 1 3 2

(d 1,233
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65. The Fundamental Rights guaranteed

in the Constitution of India can be
suspended only by

fa) a  proclamation of National
Emergency

(b) an Act passed by the Parliament

(c) an amendment to the Constitution
of India

(d) the judicial decisions of the
Supreme Court

66. Which of the following statements about

the 73rd and 74th Constitution
Amendment Act is/are correct?

1. It makes it mandatory for all States
to establish a three-tier system of
Government.

2. Representatives should be directly
elected for five vears,

3. There should be mandatory
reservation of one-third of all seats
in all Panchayats at all levels for
women,

Select the correct answer using the code
given below,

fa) 1 and 2 only
() 2 and 3 only
fe) 1, 2 and 3

(d) 3 only

STS-K-TFT/46A

67. A Joint Sitting of the Parliament is

resorted to, for resolving the deadlock
between two Houses of the Parliament
for passing which of the following Bills?

1. Money Bill
2. Constitutional Amendment Bill

3. Ordinary Bill

Select the correct answer using the code
given below.

{a) 1 only
() 2 and 3 only
c) 3 only

(d) 1,2 and 3

68. Which of the following statements is/are

correct?

1. The Directive Principles of State
Policy are meant for promoting
social and economic democracy in
India.

2. The Fundamental Rights enshrined
in Part Il of the Constitution of
India are ordinarily subject to
reasonable restrictions.

3. Secularism is one of the basic
features of Constitution of any
country.

Select the correct answer using the code
given below.

(a} 1 only
(b) 2 only
(c/ 1 and 2 only

(d 1,2 and 3

[ P.T.O.
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69. WRa & ugdfa = Faf= v Fates b5 1

for <ten %1 e Fafes dea F=fdfaas 9 9
Tormr Faifaa wewl & faes =91 g 27

1. 492 % H 9aA

2. Tl & ByE '

3. U=l #l faum gfeg

4. NCT R o 5= i fum wn

H9 fag T 2 1 wEm = Ed I g
(@) Fa@ 1 3R 2
(b) 1, 2 #R 3
e) 1,234

(d 334

70. Wd & wEgE % IEdl F wdN ggla

aifedt a0 Egie SHenodl 6 AR W
Frferfias sert = fomm i -

1. wh foen weEl # s TfEe F
ey § Tea o fiy 3y 5 @9 g

2. Y9 W Herral W e fien st d
F Tfae ¥ UEy 4 U™ ' faem
IqEY 1 HehT B

3. {59 ER HeEal 8 YW g s
foen HEHl 3T SREe # Hey H
T T Ty I9eY =41 9T 6

4, cugEns Then weEl # % gfEe F
gay 1 U9 UF {99y IuEy =91 g9 g,
31 for argeae 30 ¥ gfifa B)
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I FoUEl A A FH-8 wd B
(@) *ad 1 3R 2

(b) Heaw 3 3R 4

(c) a1, 2 3R 3

[d 1,2, 334

71. ¥ ¥ GREYA § 9g=9% 21 F i 2/8

1. Taulafafa (gesed) % =i
2. it geats & afiEr

3, ==2 ® W9 29 % ufaw afeeed %
it

e fou g % w1 wEm W wd I g
(@) Fae 1

.{bj Fad 1 3 2

fc) “aw 2 3R 3

(@ 1,233

72. T ¥ w9 @EgE "gw S geen w@fufly w=

Hawy Wt 917

(a) Tio o IR
(b) o T HIM
fe) o THo T

(d) Hewe Higge
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69. The President of India is elected by an Which of the statements given above are

Electoral College comprising of elected correct? :
members of which of the following?
1. Both the Houses of the Parliament fa) 1 and 2 only

2. The Legislative Assemblies of States
3. The Legislative Councils of States
4

The Legislative Assemblies of NCT fc/ 1, 2 and 3 only
of Delhi and Puducherry

(b) 3 and 4 only

d 1,2,3 d 4
Select the correct answer using the code o L an

given below.

(@ 1 and 2 only T1l. Article 21 of the Constitution of India
includes
(b) 1, 2 and 3 .
1. Rights of transgenders
¢ 1,2 and 4
2. Rights of craniopagus twins
(dl 3 and 4
3. Rights of mentally retarded women

70. Consider the following statements about to bear a child

the Scheduled Castes and the

; . Select the correct answer using the code
Scheduled Tribes under the provisions

S : given below,
of the Constitution of India :
1. State can make any special (@ 1 only
provision relating to their
admission to the Government (b) 1 and 2 only

educational institutions.
: fc) 2 and 3 only
2. State can make any special 4

provision  relating to  their
admission to the private
educational institutions aided by

(d 1,2 and 3

the State. 72. Who among the following was not a
3. State can make any special member of the Drafting Committee of

provision  relating to  their the Constituent Assembly?

admission to thHe private

educational institutions not aided fa) N. G. Ayyangar

by the State.
4. State can make any special (b) K. M. Munshi

provision relating to their

admission to the minority fc) B. N. Rau

educational institutions as

described in Article 30. (d) Muhammad Saadulah

STS-K-TPT/46A 27 [ P.T.O.
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73. Prefafaa # 3 B S & F100 STSHEE] w6 76. TH-1 | gH-II % T Al ffm =ik

F géie § ol wifa g o7 gt & R Re T g2 F owEm W gl I
1. @ s de F wErl A @ E
2, amq ik H @ ol i

. 1 11
3. 194 & HARY (s ) ( )
4. F= A < i s .
43 R e 1 R R I R A Tme=m 1. 9 = - e Wil
(a) aa 1 #HR 2

B. ToE 9@ 2. U <49 — TR wifeal

(b) a2, 3 ¥R 4
C. TWE TeE 3. T w1El — s
(c) “hae 1 3R 3
He] gfgmafl & w5
(d 1,2, 334 R

D. wyfgs =@ 4.

£
:
3

74, 2016-17 ¥ fou fygamfl wfmfe gass

(efteret HTRfEE ) Fi o fr WM =z :
¥, fg anfds = g Peafafea 4 @ =98
T 1 W e R e Sk @
I & B 4
1, Ewadmm-w B & B & b
2, FaAvEdd N GEERU FRE F - =i g T 9
SCEaEd B A& B B D
3, oyg WuIRr S I9-gEH R
) A B C D
99 fw T H2 1 W@ W gE TR R Ol A S|
(a) “FEe 1 3R 2
(b) FeT2 33 77. Trefafes w feEr fiem
© Faw s 1. geeEmE B
@ 1,23 2, EE " (MEA) A =81 TR
3. FgaHER
75-mﬁmﬁenpj@m%m af 4. HEQ W
2004-05 & f & & frg @ ¥ for I T % Fmion 1w e wn
EEICHGRER IR GRS B D B 20
(@) 2007-08 (@ 3,1,4,2
(b) 2008-09 () 3,1,2, 4
(€) 2010-11 @ 1,3,2 4
(d 2011-12 d 1,3, 4,2
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76. Match List-1 with List-II and select the
correct answer using the code given

73. Due to which of the following factors,
the Industrial Revolution took place in

England in the eighteenth century?

1. The discovery of coal and iron
deposits

2. The discovery of steam power
3. The introduction of railways
4. The regular supply of raw materials

Select the correct answer using the code
given below,

fa) 1 and 2 only
(b) 2, 3 and 4 only
¢/ 1 and 3 only

below the Lists :

List-1
(Type of Deficit)
A. Fiscal Deficit 1.

B. Revenue Deficit 2,

C. Effective Revenue 3.
Deficit

List-IT
(Explanation)
Total Expenditure -

Revenue Receipts
& Non-debt
Capital Receipts
Revenue
Expenditure -
Revenue Receipts
Revenue Deficit —
Grants for Creation
of Capital Assets

D. Primary Deficit 4. Fiscal Deficit —

(d 1,2, 3 and 4
Interest Payments

T4. 'Which of the following indicators have Code :
been used by the World Economic
C D
Forum to calculate Global Competi- (@) ? 5 3 4
tiveness Index for 2016-177
1. Efficiency enhancer subindex ) J:h g g E
2. Innovation and  sophistication
factors subindex (c) 2 g g ]f
3. Life expectancy enhancer subindex
: @ A B C D
Select the correct answer using the code 4 3 2 1

given below.
77. Consider the following :

1. Tughlagabad Fort

Bada Gumbad in Lodhi Garden
Qutub Minar

Fatehpur Sikri

fa) 1 and 2 only
{b) 2 and 3 only )
fe} 1 and 3 only 3.

4

fd) 1, 2 and 3
Which one of the following is the correct

chronological order of building the
above monuments?

75. In India, the base year of the new GDP
series has been shifted from 2004-05 to

(a) 2007-08 @ 3,1,4 2
(b) 2008-09 (b} 3;1,2:4
() 2010-11 e 1,3, 24
(d 2011-12 (@) 1,3, 4,2
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78. A U % w@Eq 4 3@ gL T & e fam 80. 2y @y fwid sHa, S 1890 # #AN g1

3 g% % fow B Vgrw vina | ws9 A sl . o1, W HIEH FA 417
Frdiyan =7® of f6 399 viws o % o Faa
HETE G & w9 4 @ fteR T A, (a) o Fo e
afes T2 WE TmV W wgE SEn (9EE)
a’? (b) e
fa) T (c) Wio Sl =RTEER
(b) AN T
(d} o Tio FLH
fc) HF FHeA
(d) Fo Tho frargd
81. -1 # -1 % Wy gafea HfHg iR
¥
79. T B T ¥ T g A o o R BRI S R
gt F A9 fey T g2 w1 R H FE IW ;
e gi-1 gei-1I
sffenfis
a1 S ( &) ()
(i =1 w7=R) (aread) A. e 1. USA
A. T 1. @ g fafem B. fegiee 2. UK
B. T% 2. I9S ufy C. wiA 3. %Y
C. g 3. =ui gr fafa i D. FELIE 4. Rt
D. EHIgH 4. —_
B @ A B C D
@ A B C D 2 1 3 4
2 1 4 3
) A B C D
@ A BB P B8 1 B
3 4 A 3B
g A B C D
0 A B C D
35 1 @ = . Y .
@ A B C D @@ A B C D
ol o G B 5 B . F .8
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78. With regard to nature of Mughal State, 80. Who was the editor of the journal

who among the following scholars Indian Social Reformer that was started
argued that “the peculiar feature of the in 18907

State in Mughal India was that it served

not merely as the protective arm of the (@ K.T. Telang

exploiting classes, but was itself the

principal instrument of exploitation”?
{b) Veeresalingam

fa) Irfan Habib

(b) Satish Chandra fc) N. G. Chandavarkar
{c) Athar Ali (d) K. N. Natarajan
(d) J. F. Richards

81. Match List-I with List-II and select the
79. Match List-1 with List-I1 and select the correct answer using the code given

correct answer using the code given below the Lists -
below the Lists :

St 1’.' List-I List-IT
ist~ List- (Industrial Region) (Country)
(Type of Land) (Meaning]
A. Leipzig 1. USA
A. Urvara 1. Land watered by
a river B. Detroit 2, UK
B. Maru 2. Fertile land C. Lorraine 3. France
C. Nadimatrika 3. Land watered by D. Cumberland 4. Germany
rain
D. Devamatrika 4. Desert land Code :
Code : fal A B 2 D
2 1 3 9
fa] A B G D
2 1 4 3
(b) A B C D
(b) & " F 1 =B

w >
A w
- 0
SN/

” ) A B C D

W =
—
&0
SR

[d A
2

+ W
=
w o

d A B C D
3 4
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82. §F-1 ® w1 F Wy ghfem g ik 2 fow o g F W FR Ed I g

Hﬁlﬂ%ﬁﬁﬂﬂ@ﬂﬂﬂﬁﬂﬁﬁ (@ 1,2, 334
EILE (b) FHae 1, 3 ¥R 4
—p - c) a2 34
(vhn ) (e ret) o i o
A. gagsl 84. 143 fom smam zm fe mu wien #§ w= W
® fes 1 Pefr w0 % Rre Feieaa 3 2
_‘?—f-_,,n@ firu wvEvE =1 walfus e U gen?
B. faw @ « :
(b) A HWX
C. Eel (c) e
(d) R AEE (3 TH)
D. HERd
85. T 9 R i ferelt o fades = T wn
e TR e el e UeER T S e 87
WA ‘s oM (@) & |
4 B 1L .8 (b) =
Bk 2B € D fc) =M
gobogh .4 (@ df=
e Ar B €©:-.D
a 2 1 .49 86. fufae F=#l =+ wm Gdwfa gram Pl
() AN B C D # 4 forg arg=ae gm0 gHfam T o 87
4 1 2 3 (a) FF=3a 310
(b) =2 311
83. ¥R wEEME TeR ¥ ait A, Fefafed | @ () T=T 312
FH-8 e we €7 (d) FH=E 317
1. =@q % 98N HUI: IR H aEm Hi AR
e B 87. 33y w9 ¥ Feg (gamendl) wrg my R =t
0. HeE % YoR fam & = @ 52 g, & # for Pfim =0 % g 910 6 1 fe
Tar 1 g W | A (s &
3, uiph wagew, wHe ohw At A&l (@) T
gy Ha ¢ - (b) = WeasfiR
4. BEAME BN AEHEEed e @i (c) e
1g| gl § UHae Bl (d) Wiy
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B2. Match List-1 with List-II and select the
correct answer using the code given
below the Lists :

List=I List-I
{Mountain Range) (Location in Map)

A. Satpura IC“:) /(/17"
@
B @

B. Vindhya ®
C. Aravalli
D. Mahadeo
Code ;

(al A B D

< 2 il 3

(b) A B C D

3 1 2 4

fe} A B C D

3 2 1 4

fd) A B C D

4 1 2 3

83. Which of the following statements in
respect to the Indian Peninsular Plateau
are correct?

1. The Deccan Plateau gradually rises
from North to South.

2, The Malwa Plateau dominates the
Vindhyan scarps, forming the
Eastern flank of the plateau.

3. The Western Satpuras separate the
Narmada and Tapi rivers.

4. The Chota Nagpur Plateau is
composed of Archaean granite and
gneiss rocks.

STS-K-TPT/46A

Select the correct answer using the code
given below.

I(a) 1, 2, 3 and 4
fb) 1, 3 and 4 only
(e} 2 and 4 only
({d) 1 and 3 only
84. Which one of the following criteria got
the highest weight for determination of

shares of States in the formula given by
the 14th Finance Commission?

(a) Population
(b} Income distance
() Area
(d) Tax effort
85. A Money Bill passed by the Lok Sabha

can be held up by the Rajya Sabha for
how many weeks?

(a} Two
(b} Three
fe) Four
(d} Five
B6. Constitutional safeguards available to
Civil Servants are ensured by
fa) Article 310
(b) Article 311
{c) Article 312
(d) Article 317
B7. A writ issued to secure the release of a
person found to be detained illegally is
(a) Mandamus
(b) Habeas corpus
fc) Certiorari
{d) Prohibition
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88, fraffaa # & 58 159 w1 # 980 Wewfua 91. WEwERre i duiveE gewret % el syen

(Srr) et femam < w=ma? UR-HUEl % Ehed % fou, SReEdl §dl %
&A1 HH e wdnem frdam @

(a) WEAHIE WA
fa) 7

b) CAG fur

it (b) Tia==3

(c) =nfie fereiia fearm @ el

(d) Tl w=a i dimnd weer % ferg foades (@) wheEm

89. T Aiken N e SR = T a9t 92. 7 @ 5w fem 3 =& % R & OS2

weufarE (fragu) 1 zafau =8 =3mn &

(@) A % GRuE o e T redlesiE ghan w1 ww e, sifig

zafee 7 359 3 vgin wimw =@ fen’’?
(b) T= % "uiidea %1 faofg

(a) s sfa
(c) wwe g ik siferfem B e
(d) WA % TEHRT 1 A1 (c) Taih %
(d) ===
90. W =i =Haen § w4 sHied a8 (Fnfee)
Fufg PIL ! JEAT g, 39 GHY WRA H
g =i = ¥ e 917 93. diedl w4 % afe werwE Rrefery 4 e
& 1 wgfa 6 7 27
(a) o fearageE e
(b) To THo AR ) eEd
'rc., qo mom fﬂj m‘tﬂ'
(d) o THo e (d Tm
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88. Which one of the following cannot be
introduced first in the Rajva Sabha?

(a) Constitutional Amendment
(b) CAG Report
(¢) Annual Financial Statement

(d) Bill to alter the boundaries of any
State

89. The National Commission for Women was
created by

(a) an amendment in the Constitution
of India

(b} a decision of the Union Cabinet
fe) an Act passed by the Parliament

(d) an order of the President of India

90. Who among the following was the Chief
Justice of India when Public Interest
Litigation (PIL) was introduced in the
Indian Judicial System?

fa) M. Hidayatullah
(b) A. S. Anand
fc) A. M. Ahmadi

(d) P. N. Bhagwati

STS-K-TPT/46A 35

91. Which twelfth century Sanskrit scholar

was first responsible for the compilation
of ‘Nibandhas' or digests of epic and
Puranic texts?

fa) Harsha
{bj Govindachandra
) Lakshmidhara

(d) Kalidasa

92. Who among the following scholars argued

that “capital created underdevelopment
not because it exploited the
underdeveloped world, but because it
did not exploit it enough”?

(a) Bill Warren
(b} Paul Baran
(c) Geoffirey Kay

{d) Lenin

93. Which river is praised in the fifth century

Tamil epic, Silappadikaram?
fa) Cauvery

fb) Godavari

fc)] Saraswati

{d) Ganges

[ P.T.O.
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94. W & % an #, Fefifas & @ SF-m 97. ‘Zare w1 € A == 1 v g w8 =it

wY wEl TE 87
(a) TE ITHEEN H Ui T 6 e @ (@) e @ qen, S Al Fang w R I
b) <l <l o @ Wl sk A R e

areft il 3 weum I 1 g% B

(b) Torgadra suhte # wF wm, wof 9% o

(c) a0 AR 7T ) Fen & o wew % w9 i

i e ¥ dad amhs 3| I W=

- (c) Fsea ame ® "EN A A T
(d) e T S A F T A F S e
B ger % ey ANNE Wi I9EF
BIGR (@ e, S owh fen s W W
T & F e F At 3 8
95. WIEH AHF TS R #9ad ® "9 7Y fafim
e & @ FYeRT § fe ¥ 9w
frud gafta 87
(@) T H g TSE 98. ¥ww ¥ =n #, Fefafa § @ +9-3 FF
e RY

(b) TGN T A AT

(c) I qEE F] e USEy 1. SEW % Y-y gy, a"eE 30K

58 wHE Al Feed &
@ ¥ 2. Wi % TY-a R 9 R ol T
B1e 2 % o= = i Fed wa1 8|
96. Tiefafaa # & =H- e/ wgra 4 B : 4 _
3 /57 3. iU ww (dE=) Smwm Foamm
T 6° 45’ N o f&m 21
2. T A R 2 W W R g
3. @
A =71 Tt S tUM___a_ e S
= TR RN "'ﬂ}‘ chale] 1 HI4
i fog e e w1 W R AE 3w g
5 et (b) Hae 1 3R 3
(b) 2 33 (c) a2 ¥R 3
¢ 1,234
(@) e 2 AR 4 (d) 1,2%R3
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94, Which one of the following statements

about the Harappan Culture is net
correct?

(a) It witnessed the first cities in the
subcontinent.

(b) It marks the first use of script,
written from right to left,

(e) It marks the earliest known use of
iron as a medium for the art of
sculpting.

(d) 1t marks the earliest known use of
stone as a medium for the art of
sculpting.

Harshacharita has references to various
presents sent by a ruler named
Bhaskara to Harshavardhana,
Bhaskara belonged to

(a) Haryanka Dynasty of Magadha
fb) Varman Dynasty of Assam

{c) Nanda Dynasty of North India
fd} HNone of the above

96. Which of the following lakes is/are

situated in Ladakh?
1. Tso Kar

2. Pangong Tso

3. Tsomgo

4. Tso Moriri

Select the correct answer using the code
given below.

fa) 1 only

(b) 2 and 3

fc) 1, 2 and 4
(dl 2 and 4 only

STS-K-TPT/46A

‘Tuvalu’ has become a point of

discussion recently. Why?

(a) Potato plant that could grow in
high altitude

(b) Place in equatorial Africa, where
snow is found

(c) New innovative technology to meet
global warming

(d) A country under threat of
submergence due to ice melting
and sea level rise

98. Which of the following statements related

to latitude are true?

1. Rainfall, temperature and
vegetation vary with latitude.

2. The difference between the longest
day and the shortest day increases
with latitude.

3. Indira Point is located
approximately at 6°45' N latitude.

Select the correct answer using the code
given below.

fa) 1 and 2 only

(b} 1 and 3 only

() 2 and 3 only

(d 1,2 and 3

[ P.T.O.
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99, -1 # HHAl-11 % wWa gafad A ik 1 fag g 2 w1 v = Ed I gR
%{fi:?.aﬁ:ﬁ%ﬁt{m@mmmWaﬂt Piig 2
(b) FEw 1 3R 3
-1 -1 g
() (s ) i W he
A. sfara 1. o @ 1,8%R3
B. STEEl 2. qEAeH
c. e 3 Radfe 101. Hi-1 # g1 5 ®9 gaka Hifme i
'm +§-E1' gt % MR Ry F2 w1 W@ w9l W
D. 4, 3f -
%2 -1
(wa & gaivr 1Y)
fag A B C D
8 1 2 4 A. Tagu
() A B C D
) A B C D
4 2 1 8 & 5
(A B -G .D
3 1. 2 8 e
He
100. F=fafaa @t % 9 $F-w1/8 98 8/87
faj A B D
1. Tewrerft 7R =1 3gm wW o6 ¥ % 2 -
g\iﬁﬁg‘iﬁﬁm%,m:mﬂﬁ%@ % e B
' 5 4 1 3
2. WEEME ger i Al gfuwd 9% gge ©) A° B C D
T g 3. & . 3
3. Tewer AfE AweT F owvr 9% R @ A B C D
A areena 0 fafa wef #1 5 & a4 2
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99, Match List-I with List-II and select the Select the correct answer using the code
correct answer using the code given given below.
below the Lists :
(a) 2 only
List-T List-II
(Lake) (Type of Lake) (b) 1 and 3 only
A. Bhimtal 1. Lagoon fc) 2 and 3 only
B. Ashtamudi 2. Landslide (d 1,2 and 3
C. Gohna 3. Tectonic
B Taties 4. oS 101. Match List-lI with List-1I and select the

correct answer using the code given
below the Lists :

Code : List-I List-IT
(States of NE India) (Location in Map}
fa) A B

@]
]

A. Tripura
(b) A B C D
2

3 ! % B. Mizoram
fe) A B c D
4 2 1 3 C. Nagaland
d) A B ié D
& 4 1 5 3 D. Manipur
100. Which of the following statements is/are Code :
correct?
(a) A C D
1. Himalayan rivers have their origin 2 1 4 3
in the snow-covered areas, hence
are dry in winter season, (b) A B c D
2 -+ 1 3
2. Rivers of the Peninsular Plateau
have reached maturity. g A B C D
3 1 4 2
3. Himalayan rivers depict all the
three stages of normal cycle of (d A B C D
erosion. 3 4 1 2
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102. Yd & dRum ¥ og=as 44 # 9 7 wHE

amits diem % =it #, Frefafan 1 8 FF-W

T el TE 87

(@) T& TAE WRAE AV H UH IE
FfErwR B

(b) AWA * R T=EEF # A F o @
gifim +0 g T59 TATH HOT|

(c) @8 TR =rETeE g EdAE e g

(d) T8 e N WEoAE T R, d@ of
wfeum 1 7 e @ B fagia & dw
77 BAN 371 F WEA § @ 8

103. ffaflgas # @ o /fhl w0

THHTE T4 B 6 T i
1.  HTHE |41
2. W@ WA
3. WA wE
4, ¥ TS

i fe g Fe w1 WA R EE S g
(@ 1,2 3MW3

(b) FaE 2

fc) Faa 132

(d 1,33R4

104. G-1 & G-I ¥ w9 gEfqa A e

gt & Y Ry 1 g2 w1 @ W W
EGELE

-1 HE-11
(Fzv T) (smmyfires =)
A. HiEE 1. dnm
B, TN 2, fean
c. fwem 3. et 2rg (€9)
D. siTE] 4. wfEmn
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(a)

(b)

(c)

(d)

1 4 2

A B C D
1 2 4 3
A B C D
3 2 4 1

105. “ea g™ & T8 F@ & 9 4, Fefafiea §
F -9 Ty g TEt 27

(a)

(b)

(c)

(d)

&ha 9 U9 wifed, Wiedl & G &
quTd, TTE TEw % megw @ gl ggen
ot welg v & U TR F w9 A 9
Tormm T B

nfeens TR W ggReiE R
| A e fien @ gwer off oin
) RO Y IW FA § AT e,
AR T e off | W e S
a0 Ry o g R gl @ sfvER
o |

entE wE Al w st e Rl
Progeas % wmo-we 9 9o wiE ®
@ g () sgem Ry wmo#,
YT Fe =h1 TRt waifEe )

g FgeFl ¥ Wi # Sfiem % IpE
H T g REwE W T @,

Toress wftomeass s 971 ° from g
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102. Which one of the following statements

regarding Uniform Civil Code as
provided under Article 44 of the
Constitution of India is not correct?

(a) It is a Fundamental Right of every
Indian citizen.

(b) The State shall endeavour to secure
it for citizens throughout the
territory of India.

fc) Itis not enforceable by any Court.

(d) 1t is not enforceable by a Court yet
the Constitution requires that as a
principle it should be fundamental
in the governance of our country.

103. Which of the following was /were founded

by Raja Ram Mohan Roy?
1. Atmiya Sabha

2. Brahmo Samaj

3. Prarthana Samaj

4. Arya Samaj

Select the correct answer using the code
givenn below,

fa) 1, 2 and 3
(b} 2 only

(¢ 1 and 2 only
(d) 1, 3 and 4

104. Match List-I with List-Il and select the

cortect answer using the code given
below the Lists :

List-I List-IT
(Harappan Site) (Modern Name)

A. Dholavira 1. Saurashtra
B. Rakhigarhi 2. Hisar

C. Bhirrana 3. Kadir Island
D. Bhogavo 4. Haryana

STS-K-TPT/46A

41

Code ;
(al A B c D
1 4 ) 3

(b) A B o D
2
fc) A B C D

[d A B

105. Which one of the following statements

about the Gupta period in Indian
History is not correct?

(@) Sanskrit language and literature,
after centuries of evolution,
reached what has been described
as a level of classical excellence
through royal patrenage.

(b) The status of women was redefined.
They were entitled to formal
education and hence there were
women teachers, philosophers and
doctors. Early marriage was
prohibited by law and they were
given the right to property.

(¢) Decentralization of administrative
authority was impacted by increased
grants of land and villages with
fiscal and administrative immunities
to priests and temples,

(d) Land grants paved the way for
feudal developments and
emergence of serfdom in India,
resulting in the depression of the

peasantry.
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106. ifas v fFaned % wn A, Fr=afofas & |

FH-H1 T HEl BY
(a) GEE % Th Afufey g sfEge sy
Hart gfom i =0 w2

(b) HfEe wwdE Fael F geA & fog v
w1 = Herl arfard T B

(c) wflae vt anefl % fog weff & Fram
UPSC g1 fauifa fir me 81

(d) wfae wnd Yaned fii e AT
UPSC BRI 9&efl 511 Fehell & |

107. WFA ¥ gfaum & A aye IuEy) & &) 8,

Frferfaa & & 9-w1 Fom @ T4 27

(a) "% wEofes 1 nfwal o= ST
s % wam @ daum FEw 3@ 0w
Tereafia B

(b) €Y HETTIH, T WHRI & HAANE
& A | HAd F Feg F I9EY AL W
Tl B

(c) WG % TEUfd & AW A9 wieedl Sl
g IR TeAaTT w1 WIH TE B

(@ afz el TS F TIME W 9§ g
2w U & w8 g ' ol
=g 6 i e sy @ @@ "
%, @ A g # faeig s i Hwon =
qFd 8|

108. TEI Ry o=@ s T a0 87

fa) 7

(b) 17 g
(c) T AT
(d) 17 faamt
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(a) WA
fc) =H

(b) w4
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(@) &
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(d) GST ufteg 3 wifgenfae " i wegfa
=1 ot @i I ol | gfe A
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106. Which one of the following statements
about the All India Services is correct?

(a)

(b)

fc)

(d)

The All India Services may be
created by an Act of the Parliament.

The endorsement of the Rajya
Sabha is not essential for the
creation of the All India Services.

The rules of recruitment to the All
India Services are determined by
the UPSC.

The conditions of service to the All
India Services may be altered by
the UPSC,

107. Which one of the following statements
about emergency provisions under the
Constitution of India is not correct?

(a)

(b)

(c)

(d)

The powers of the Union Executive
extend to giving directions to the
States concerning the exercise of
their powers.

The Union Executive can issue a
provision relating to reduction of
salaries of employees of the State
Governments,

Governors have no emergency
powers like the President of India.

If the Governor of a State is
satisfied that a situation has arisen
whereby the financial stability or
credit of the State is threatened, he
may declare financial emergency in
the State.

108. The National Handloom Day is observed

on
(a)
(b)
fc)
(d)

7th June

17th July

7th August
17th September
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109. Venus, the first environmental research
satellite, was launched in August 2017
by which one of the following countries?

(@)
fc)

India

(b} Russia

China (d} Israel

110. Which one of the following was the theme
of the World Environment Day, 20177

(a)

(b)
(c)
(d)

Green Economy : Does it include

you?
Connecting People to Nature
Think, Eat, Save.

Many Species, One Planet, One
Future

111. The all-women expedition of Indian Navy
to circumnavigate the globe on the
sailing vessel, INSV Tarini, is scheduled
to have four stopovers. Which one of the
following is not one of them?

(a)
(b}
(c)
(d)

Fremantle
Lyttelton
Port Stanley
Durban

112. Why was constitutional amendment
needed for introducing GST?

(a)

(b)

(c)

(d)

States were not willing to agree
with the Union for introduction of
GST without amendment in the
Constitution.

GST was to be implemented on
concurrent base and Article 246
was inadequate for such a case.

The Empowered Committee
of Finance Ministers had
recommended for constitutional

amendment.

The GST Council had recommended
for constitutional amendment so
that its power enhances,

[ P.T.O.
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113. g ¥ S Rwsm (9EiR) dmERE W

3T BT E W Fal 53 B¢
(a) qﬁﬁﬁﬁ

(b) TR

(c) HAEL

(d) TEIHERE

114, WA WK F Ag TRaw Frwd, Fefaia |

¥ foress oo &7

(@) sEgH! & dfeed & o wga TR w
gt 1 Fmim

(b) TERE TeEET W guiEd SR diedy
% fom gatt =1 famfo

(c) weadi &E | S & fom wsw W
Fomfor

(d) VAN T T WA WK W T
Fafrganall 1 9iRiEo

115. ¥fes wlm gRw SRR wWR (e

TameEe Bl oz wite), Rl ard A

srE 2017 A faw d4% F @y Wi

Fa1 gur uiEeer % fon gemefa fe , &

an A Fafefiaa § @ F$9-w w0 98 78 80

(a) STGESET %1 ATHR @ USD 25 fafess
il

(b) s & sEfy 15 a4 3

(c) ufEem qfa: fog &% 370 39% GEF
= 9§ famdifta g

(d) EtE, o R STy aitedE FEe @
YIS ) i HT

116. T e # ed-uwra % o fawer ¥ w9

#, UBI =1 =47 ar9d 27
(@) I IA S
(b) RIE TE A
(c) FWTcEiEa ge 34
(d) wifde gt ™
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117. Frafafgs witeot ## 4 e s @ @

‘MyFASTag @91 ‘FASTag Partner
Hramgs T & fe 87

(a) TrE=ER fafEmE it

(b) TER TSEF HfeER

(c) TR anfide fafames wiftso
(d) TER ATIE] FE9A WEHT

118. WHd G&FR 6 Wfa sEaf wim it |

 forwrss fom 7

(@) et & 3= faen
(b) aferEmal =l aerehr e
(c) wnfermet =t meafies e
(@) =nferett St il fan

119. GiGg 77 ™ I=HT (SAGY) FI v e

Trferfiaa § @ = =t &7
(@) @& GTGEITaE TR T HfEd B
(b) W% TH GHE T R "GRG 8

(c) FaE @igd WA & fog s P
HEA B

(@) veF Tufgn mm d=rE & fog o 7m
formrrg s dan e s R
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(a) T
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(c) H (wiE)
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113. Where is world’s first Partition Museum 117. Which one of the following authorities

inaugurated recently?
fa) New Delhi

fb) Lahore

fc) Amritsar

fd) Islamabad

114. The Setu Bharatam Programme of the
Government of India is a programme for

has recently launched the mobile apps
‘MyFASTag’ and FASTag Partner’?

(a) Telecom Regulatory Authority
(b) National Highways Authority

{c) Airports Economic Regulatory
Authority

(d) National Disaster Management

{a) building bridges across major Authority
rivers for transport of goods
(b) building bridges for safe and 118. Pragati’ scholarship scheme of the

seamless travel on national
highways

(c) building roads to connect coastal
arcas

{d] training of highway engineers at the
entry level and service level

115. Which one of the following statements

Government of India is meant for
fa) higher education of girls

(b} technical education of girls
(c) secondary education of girls

(d) elementary education of girls

about the Global Environment Fal:l]]t}' 119. Which one of the follﬂwing 15 not a

Grant Agreement, signed by India in
August 2017 with the World Bank
for ‘Ecosystems Service Improvement
Project’, is not correct?

fa) The size of the project is about
USD 25 million.

(b) The duration of the project is
15 years.

(¢) The project will entirely be financed
by the World Bank out of its GEF
Trust Fund.

(d) The Ministry of Environment,
Forest and Climate Change will
implement the project.

116. UBI, as an alternative for subsidies in
poverty alleviation, stands for
(a) Union Basic Income
(b) Undefined Basic Income
(e} Unconditional Basic Income
(d) Universal Basic Income

STS-K-TPT/46A 45

120.

feature of the Saansad Adarsh Gram

Yojana (SAGY)?

(a) 1t focuses on community
participation.

(b) 1t is to be guided by a Member of
the Parliament,

fe} It aims at creating infrastructure
for the village.

(d) A Village Development Plan would
be prepared for every identified
Gram Panchayat.

Which ong of the following is net

included in the National Air Quality
Index?

(a) Sﬁlphnr

(b) Nitrogen dioxide
(c) Lead |

(d) Methane

[ P.T.O.
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